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Let r be the radius of the circle.

(i)

2r=28cm

circumference = 2xr

= 28m¢cm
=88 cm

Solution 2

Let r be the radius of the circular field

()
2Tr=308
2T
L3087
2 22
=r=49m
(i)
area=mr?
_ 22 2
== x (49)
= 7546 m?
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Solution 3

Let r be the radius of the circle.
2nr+ 2r =116
2r(7+1)=116
116
y = ——
2{x+1)

= 14cm

Solution 4

Circumference of the first circle

Sl=2ﬂ'>(25

= 507cm
Circumference of the second circle

S, = 2718

= 367cm
Let r be the radius of the resulting circle.

2xr =50 + 36w
2nrr =86xw
_ 86
o

= 43cm
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Solution 5

Circumference of the first circle

S, = 2rx48

= 96mcm
Circumference of the second circle

S, = 27x13

= 267;Ccm
Let r be the radius of the resulting circle.

27r = 96w - 267
2ar =707

707w

pisr—

27

= 35cm
Hence area of the circle

14:;@-’
=J'r><352

= 3850cm

Solution 6

Let the area of the resulting circle be r.

Jn-c(lﬁ)2 + JH((IZ):I -axr
256% + 1448 = AXF
400x=xxr

! = 400

r=20cm

Hence the radius of the resulting circle is 20cm.
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Solution 7

Area of the circle having radius 85m is

A= xx(85)

= 72257
Let r be the radius of the circle whose area is 49times
of the given circle.

k= 49><(:r>< 52)

r2 = (?xﬁ)z

r=35
Hence circumference of the circle

S=2ar
= 2% 35
= 220m

Solution 8

Area of the rectangle is given by
A=55x42

= 2310cm’
For the largest circle, the radius of the circle will be
half of the sorter side of the rectangle.
Hence r=21cm.

Area of the circle = 7x (21)°
=1384.74cm”

Arearemaining = 2310 - 1384.74

= 925.26
Hence

the volume of the circle: area remaining =1384.74:915.26
=3:2
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Solution 9

Area of the square is given by

A=28*

= 784cm*
Since there are four identical circles inside the square.
Hence radius of each circle is one fourth of the side of
the square.

Areaof one drde = £x 7
= 154cm’
Areaof four circle =4 x 154cm’
- 616cm”
Arearemaining = 784 — 616

= 168cm’

2
Area remaining in the cardboard is = 168cm

Solution 10

Let the radius of the two circles be 3r and 8r
respectively.

area of the circle having radius 3r =  (3r)°
= 9ar?
area of the circle having radius 8r = # {Elr)2

= 644rr2

According to the question

64xr? - 9xr? = 2695x
55r? = 2695
rZ = 49
F=7cm

Hence radius of the smaller circleis 3 x 7 = 21cm

a £ oan . ¥ n
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Hence radius of the smaller circleis 3 x 7 = 21cm
Area of the smaller circle is given by

A=nr2=§x212= 1386 cm?

Solution 11

Let the diameter of the three circles be 3d, 5d and 6d
respectively.
Now
#x 3 +xx 5d +x7x6d = 308
14xd = 308
d=7

2
radius of the smallest i:iri:le=—l = 10.5
2

Area=r x (10.5)°
- 346

) . 42
radius of the |argest circle= ? =21

Area=rx (21)°
= 1385.5
difference=1385.5 - 346
= 1039.5

Solution 12

Area of the ring = x (20)° - # (15)°
= 400x - 2257
=175x
= 549.7cm?
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Solution 13

Let r be the radius of the circular park.

2zr =55

area of the park = Tt x(8.75)2 = 240.625 m?
Radius of the outer circular region including the path
is given by

R=8.75+3.5
=12.25m

Area of that circular region is
A=mx(12.25)* =471.625 m?

Hence area of the path is given by

Area of the path=471.625 -240.625=231 m?

Solution 14

Let r be the radius of the circular garden A.

Since the circumference of the garden A is 1.760 Km= 1760m, we have,
2nr=1760m
e 1760x7

%22 =280m

Area of garden A=mré= % x 2802 m?

Let R be the radius of the circular garden B.
Since the area of garden B Is 25 times the area of garden A, we have,

nRZ =25 x Tir?

= TIR% =25 x T x 2802
= R? = 1960000
=R=1400m

Thus circumference of garden B =2mR=2 x % x 1400=8800m =8.8 Km

Solution 15

Diameter of the wheel=84 cm

|1 O <



1635 X & o 2% 59%E
Solution 15

Diameter of the wheel=84 cm
Thus, radius of the wheel=42 cm

Circumference of the wheel =2 x % x42 =264 cm

In 264 cm, wheel is covering one revolution.
Thus, in 3.168 Km=3.168 x 100000 cm, number of revolutions

2168 x 100000 =1200

covered by the wheel =

Solution 16

66
the car travells in 10minutes= ?

=11km
=1100000cm

Circumference of the wheel = distance covered by the wheel in one revoiution
Thus, we have,
Circumference =2 x % x % =251.43 cm

Thus, the number of revolutions covered

by the wheel in 1100000 crm = 2000

5143 4375

Solution 17

radius of the wheel = %

= 2lecm
circumn ference of the wheel = 27T 21
=132cm

Distance travelled in one minute = 132 x1200
= 158400cm
=1.584km

1.584km

hence the speed ofthe train =

Solution 18
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Solution 18

) ~ 9.05 —8.30=35 minutes
Timeintervalis

Area covered in one 60 minutes= g x8% = 201em’
Hence area sweptin 35 minutes is given by

_ 201 _ 1l 5
A———GO x 35 1173 cm
Solution 19

Let R and r be the radius of the big and small circles
respectively

Given that the circumference of the bigger circle is 396 cm
Thus, we have,

2MR=396cm
~R= 396x7
2x22
=R=63cm
Thus, area of the bigger circle = TR?
_22 2
- x 63
= 12474 cm?

Also given that the circumference of the smaller circle is 374 cm
=2nr=374

374 x7
== —
2x22
=r=595cm
Thus, the area of the smaller circle = mr?
22 2
=—x595
7 X
=11126.5 cm?

Thus the area of the shaded portion = 12474 —11126.5=1347.5 cm?®

Solution 20

From the given data, we can calculate the area of the
outer circle and then the area of inner circle and
hence the width of the shaded portion.

Given that the circumference of the outer circle is 132 cm
Thus, we have, 2TR=132 cm

s 132 %7
2x22
=2R=21cm

- et — ~d

|1 O L



1635 WX & ° o Y 59% &
= TOPPER =

MENU LEARNING

Solution 20

From the given datia, we can calculate the area of the

outer circle and then the area of inner circle and

hence the width of the shaded portion.

Given that the circumference of the outer circle is 132 ¢m
Thus, we have, 2TtR=132 cm

132x7
=’R=7

2x22
=R=21cm

Area ofthe bigger circle= TR?
_22 2
== x21
=1386 cm?
Alsc glven the area of the shaded portion.
Thus the area of the Inner circle =Area ofthe outer circle — Area of the shaded portion

=1386-770
=616 cm?

=+ nrl=616

, 6167
=T

22

=r2=196
=r=14cm

Thus, the width of the shaded portion=21-14=7cm

Solution 21

Let the radius of the field is rmeter.

Therefore circumference of the field will be: 277
meter.

Now the cost of fencing the circular field is 52,800 at
rate 240 per meter.

Therefore

277 240 = 52800
. _52800x7

2x 240 22
=35
Thus the radius of the field is 35 meter.
Now the area of the field will be:

mi= (2) 35
7

=3850m?
Thus the cost of ploughing the field will be:

3850x12.5=48,125 rupees
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Solution 22

Letr and R be the radius of the two circles.

7r+R=10 wsll)
m? + R =587 —(2)
Putting the value of rin (2)

r’+R* =58

(10- R)*+R? =58
100- 20R+R?+R* =58
2R -20R+42=0

R -10R+21=0
(R-3)(R-7)=0
R=37

Hence the radius of the two circles is 3cm and 7cm
respectively

Solution 23

From the figurae:

AR =2%cm
BC=1lun

AC =452 + BO?
=282+ 212

=35cm

Hence diameter of the circle is 35c¢m and hance
2
35
Area= x| —
2z
3
= 062.5 cm

Area of the rectangle = 28x 21
= 588cm?

Hence area of the shaded portion is given by

A =962-588= 374.5 cm?

Solution 24

Since the diameter of the circle is the diagonal of the
square inscribed in the circle.

Let a be the length of the sides of the square.

Hence

@:2)(7
a= 2)(?
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Hance diamater of the circle is 35cm and hance
2
35
Area = 7Tx [?

= 962.5 cm?

Area of the rectangle = 28x 21
=588cm?

Hence area of the shaded portion |s given by

A=962-588= 374.5 tm’

Solution 24

Since the diameter of the circle is the diagonal of the
square inscribed in the circle.
Let a be the length of the sides of the square.
Hence
ﬁa =2x7
a=n~2%7
a’=98

Hence the area of the square is 98sg.cm.

Solution 25

Let 'a’' be the length of each side of an equilateral triangle formed.

Now, area of equllateral triangle formed = 484+/3 cm?

- ?az =484y/3

+al=4x484
=a3=2x 22=44cm

Then, perimeter of equllateral triangle=3a=3x44 =132 cm
Now, length of wire = perimeter of equilateral triangle =circumference of circle

= circumference of circle =132 cm
=2mr=132 (risradlus of circle)

132 x7
- = —

ax22 2lem

. Areaof circle=mr? = % x21%x21=1386cm?
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